
S
PA

R
E

 P
A

R
T

S
 K

E
Y

B
O

A
R

D
 S

TA
N

D
S

18880.000.55 black

SK
18880

18880 Table-Style Keyboard Stand

-7/04-

pos. description art.-no. qty

1 plastic bolt cap 03.20.410.55 10
2 locking nut M6 03.08.340.29 10
3 washer 03.11.430.25 22
4 hexagon bolt M6 x 40 mm 03.01.370.29 2
5 carriage bolt M6 x 30 mm 03.07.325.25 6
6 carriage bolt M6 x 35 mm 03.07.330.29 1
7 locking nut M6 01.91.715.55 4
8 carriage bolt M6 x 55 mm 03.07.355.29 1
9 hexagon bolt M6 x 50 mm 03.01.390.15 2

10 end-cap 03.20.803.55 4
11 connector brace 01.21.985.55 1
12 rubber padding strip 03.21.950.55 4
13 countersink screw 03.02.655.25 4
14 non-skid end-cap 03.20.780.55 4
15 carriage bolt M6 x 25 mm 03.07.320.29 1
16 spacing washer 10 mm 03.11.819.55 2
17 carriage bolt M6 x 70 mm 03.07.370.25 1

4

5

7

8

9

3

6

3
2
1

7

10

11

12

13

14

15

10

17

16

5
3
2
1


